Accessories for Immersion circulators IKA ICC

BS.ICC PCs.ICC

IBR9 eco <

IB 18 eco

IB 20 pro

Product Description Ident. No.
ACCESSORIES FOR ICC

CS.ICC Cover, small for ICC, 8 /9 | bath vessels 0004471500
CM.ICC Cover, medium for ICC, 12 | bath vessels 0025000290
CL.ICC Cover, big for ICC, 18/ 20 | bath vessels 0004471600
CLG.ICC Gable lid for ICC, bath size L 0020023680
CLR.ICC fg/vfé lv"t')ta:fvrggeipem”gs for i<, 0025006276
BS.ICC Bridge, small for ICC, 8 /9 | bath vessels 0020003077
BL.ICC Bridge, big for ICC, 18 /20 | bath vessels 0020003078
BS.ICC lite Bridge, small for ICC lite, 8/9 | bath vessels 0020119539
BL.ICC lite Bridge, big for ICC lite, 8/9 | bath vessels 0020119540
cc2 Cooling coil for ICC 0025001061
PCS.ICC Pump connection set for ICC 0004471900
BATH VESSELS

Bath size S

IB 8 eco Bath vessel, plastic, 8| 0004248100
IBR9 eco Bath vessel, plastic, 91, rectangular 0020004382
IB9 pro Bath vessel, stainless steel, 9 | 0004248500
Bath size M

IB 12 pro Bath vessel, stainless steel, 12 | 0004577500
Bath size L

IB 18 eco Bath vessel, plastic, 18 1 0004248200
IB HF 24 eco Bath vessel, plastic, 24 | 0020006884
IBR 20 eco Bath vessel, 20 I, plastic, rectangular 0020004383
IBR 52 eco Bath vessel, 52 1, plastic, rectangular 0020007044
IBRRO 15eco  Bath vessel for magn. stirrer RO 15 0020006341
IBRRO 15 pro  Bath vessel for magn. stirrer RO 15 0025007761
IB 20 pro Bath vessel, stainless steel, 20 | 0004248600

Product Description Ident. No.
THERMOFLUIDS
HF.Si.20.250.50A Heating fluid Si250A; 10 kg 0020003521
HF.Si.20.200.50 Heating fluid Si200; 10 kg 0020003520
UF.Si.N30.150.10LV Universal fluid Si150 LV; 9 kg 0020003518
HF.Si.20.200.50
HOSES
LT 5.32 Temperature control hose, 1.6 m 0020113271
H.PVC.8 Hose, PVC, @8 mm, 2x 1.5 m 0004568800
H.PVC.12 Hose, PVC, @12 mm, 2 x 1.5 m 0004568900
H.SI.6 Hose, silicone, @ 6 mm, 3 m 0020102324
H.S1.8 Hose, silicone, @8 mm, 2 x 1.5m 0004569000
H.SI.12 Hose, silicone, @ 12 mm, 2 x 1.5 m 0004569100
LT 5.32
H.PUR.8.R Tube PURS0°C, @8, 2 1.5 m, 0020004612
reinforced
3 H.PUR.12 Tube PUR90°C, @ 12,2 x 1.5m 0020004613
H.FKM.8 ;Ufe]lFSKr':]A' @& mm, -30 =180 °C, 0004569200
e Tube FKM, @ 12 mm, -30 - 180 °C
H.FKM.12 2%15 m,yl\/l 16 1 ' ' 0004569300
H.FKM.8.1SO Hose set FKM incl. insulation, @ 8 mm 0010011653
H.FKM.12.1SO Hose set incl. insulation, FKM, @ 12 mm 0010011652
incl :
H.PUR.12.AD ES;egsgzgcg'Y'zﬁﬂ connection, 0010011654
H.FKM.12.1S0
INSULATION FOR HOSES
1SO.8 Insulation, @8 mm, 2 x 1.5 m 0004569400
1SO.12 Insulation, @ 12 mm, 2 x 1.5 m 0004569500

1SO.8

1SO.12




Accessories for Immersion

circulators IKA ICC

3 Product Description Ident. No.
TUBE RACKS
Tuk?e rack, 13 mm, S, Stainless steel rack for bath size S, 0020004026
stainless @13 mm
Tube rack, 13 mm, S,
stainless i i
Tut?e rack, 17 mm, S, Stainless steel rack for bath size S, 0020004027
stainless @17 mm
Tube rack, 22 mm, S Stainless steel rack for bath size S
' T ' 0020004028
ﬂ stainless @22 mm
- Tuk?e rack, 13 mm, ML,  Stainless steel rack for bath size M+L, 0020004029
stainless @13 mm
Tube rack, 17 mm, ML,  Stainless steel rack for bath size M+L,
Variable rack, ICC, ML, stainless @17 mm 0020004030
stainless 5 . ) . i
Tu le rack, 22 mm, ML,  Stainless steel rack for bath size M+L, 0020004031
stainless @22 mm
variable rack, ICC, ML, ioble rack for bath size M+L.ICC 0020004032
stainless
Inlay 1 iabl k
niay 1, variable rack, Inlay for variable rack, @ 13 mm, 2 pcs. 0020004033
| ICC, ML
Inlay 2, variable rack, Inlay for variable rack, @ 17 mm, 2 pcs. 0020004034
ICC, ML
Variable bottom, ICC, Inlay 3, variable rack
L, stainless ICCyl\/IIL ! Inlay for variable rack, @ 22 mm, 2 pcs. 0020004035
Varllable bottom, I1CC, L, Variable bottom for bath size L.ICC 0020004614
- stainless
l - ﬂ = . Bottom plate L Bottom plate for bath size L 0020006212
Bottom plate L, ICC Bottom plate for bath size L.ICC 0020007353
Bottom plate L
FLOATING RACKS
! Floating tube rack for
Fl k1 0020003667
oating tube rac 24x1.5/2.0 ml tubes, 5 pcs.
.- - -‘ .
! Floating tub k f
o wile e Floating tube rack 2 oating tube rack for 0020003668
o AR, 8 x 15 ml tubes, 5 pcs.
S loating tube rack f
. Floating tube rack for
Floating tube rack 1 Floating tube rack 3 4 x 50 ml tubes, 5 pcs. 0020003669
ADDITIONAL ACCESSORIES
WH10 WiCo Holder 0020000984
PT 100.30 Temp. sensor, stn. steel 0004284700
Floating globes,
E i le PT 1
PP PT 100 extension (Lemo) - c/sion cable PT100, 0020004629
lemo connector, 3 m
Floating globes, PP Floating globes, PP, 500 pcs. 0020003666
Distribution Pipe 4-5|ded dlstmbuto‘r tube for improved flow 0020027440
in large tanks, stainless steel
PDS IB.R.RO Pump connection set ICC for IB R RO 0020026449

WH10

baths, incl. distribution pipe

Product Description Ident. No.
L)
VALVES AND LEVEL CONTROLLERS
MV 1 Magnetic valve forccooling water 0020003763
oV 1 control, max. 100 °C
.
-~ | |
[ == OV Closed pressurfe valve for externa 0020000249
| pump connection set, max. 180 °C
j Ball valve M16 x 1 Ball valve, completely opening (M 16 x 1) 0020004620
Mechanic fluid level o
coerwctr:IT;f uiaieve Mechanic fluid level controller 0020004618
Ball valve M16x1 Mechanic fluid
level controller
ADAPTERS
Elbow tube 90° Elbow tube 90° 0025001212
s Elbow Olive 90° fi
t‘: ow e or 90° tube adapter for pump mounting 0025007462
) pump
;.\_ ,/ Y-hose connector 8 mm  Splitter, PP, max. 135 °C 0020010963
- Olive for DN 6 hoses Olive for DN 6 hoses, 2 pcs. 0020004667
Elbow tube 90° Olive for DN 8 hoses Olive for DN 8 hoses, 2 pcs. 0020004566
Olive for DN 10 hoses Olive for DN 10 hoses, 2 pcs. 0020004568
’ Olive for DN 12 hoses QOlive for DN 12 hoses, 2 pcs. 0020004889
) Adapter NTP 1/4 Adapter M 16 to NPT 1/4, 2 pcs. 0020004569
. Adapter NTP 1/2 Adapter M 16 to NPT 1/2, 2 pcs. 0020004570
Olive for DN 6 Adapter NTP 3/4 Adapter M 16 to NPT 3/4, 2 pcs. 0020004571
hoses
Adapter M16x 1 f - Adapter M 16 x 1 female to G 1/4 male 0020008807
G1/4 m
Adapter MIEX Tm- )4 oter M 16 x 1 male to G 1/4 male 0020008734
G1/4m
A M1 m-
dapter M16 > 1 m Adapter M 16 x 1 male to G 1/2 male 0020008796
G1/2m
Adapter M16 x 1 f -
Adapter NTP 1/4 apter M6 x Adapter M 16 x 1 female to G 172 male 0020008800
G1/2m
A M1 1f-
dapter M16 x Adapter M 16 x 1 female to G 3/8 male 0020008730
G3/8 m
Adapter M16 x 1 m -
Adapter M 16 x 1 male to G 3/8 male 0020008754
. N\ G3/8m P "
2 ( a g
G/ Adapter M16 x 1 m - Adapter M 16 x 1 ma\.etoM 16 x 1 0025007118
M16x1m male, for hose extension
Adapter NTP 3/4 Lock nut Lock nut, 2 pcs. 0020004583
Stopper Stopper, 2 pcs. 0020004584




	58
	59cela



